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(a)  3000 

(b)  200 
(c)  6100 
(d)

 300  20%  125 
 300 

 1 A2/1

A2/8

 2 A2/16

A2/28

 2310 +  4925 +
 10 000 +  2125 +

 6100 

=  15 215 +
5245 +  5000 
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(a) 2310 
(b) 3050 
(c) 310 
(d)
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(a) 26 485 
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(c) 14 940 
(d)

3 2
(a) 26 485 
(b) 9540 
(c) 4490 
(d) 4180 

4  10 000 
2

(a) 26 485 
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 20 
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A2.1 A2.2 A2.3 A2.4 
 XYZ  20v8  20x2 XYZ 

1 3

2  XYZ 
3

3  XYZ  20x2  7 194 000  20x2 
3

4  XYZ  20x2 
7

5  XYZ 
14

 30 
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 A2.1

 A2.2
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 A2.3

 A2.4

 3

3  10.00 30.00 
0.4 40.00 / 16.00 
0.4 12.00 / 4.80 
0.4 8.00 / 3.20 

54.00 
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F = U = 

*

 11.00 

1 2

2 4

3 3

4 3

5 3

6 3

7 2

8 5

 25 

268 800 270 000  1 200  F
155 800 144 000 11 800 U
43 000 43 200  200 F
31 600 28 800 2 800 U

499 200 486 000  13 200  U

/

11 200  F 10 000  U –

3 800 U 8 000 U –

2 600 F 2 400 U –

400 F* – 3 200  U
10 400  F 20 400  U 3 200  U
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Morningside Toy  Mickey  Mouse 
20x2  2  28  Mouse 

 Mouse 
Morningside  100 000  Mickey 

 Mouse 
 20x6 7  31  150 000 

 Morningside 
Morningside 

 Mouse  30%
 20x2  7  31  27 000 

 7 
 Mickey  MZ MZ 

 10 000  20x6  7 
31

Morningside  Mouse 
 20x2  8 

1

1
 Mouse 

2  Mouse  140 000 

3 Mouse  24 200 
Morningside 

 76 000 
 7000 

4  Mouse  Mickey 
MZ  91 000  10 

 74 000  MZ  0.20 
0.50  110 

 121  124.6 

 20x6  7  31 

MZ 
10 000 – 14 999 4.00 
15 000 – 39 999 3.90
40 000 – 69 999 3.60
70 000 – 199 999 3.30

200 000 – 500 000 2.70



2 / 

A2/8 Edinburgh Business School

 20 

 5

Mercedes 230 

 Mercedes 

 W. A. Paton, ‘Restoration of 
fixed asset values to the balance sheet’, Accounting Review , XXII, No. 2

 Paton 

 5 

 1

 1  Mouse 
MZ

 2  MZ
 3  MZ  MZ
 4  MZ

2 310 4 925 10 000 2 125 6 100 
–1 500 (a) +6 100 (c) +3 000 (a) –125 (d) –3 050 (c)

–200 (b) –300 (d) –2 600 (d)
–300 (d)
310 10 725 10 400 2 000 3 050 = 26 485 

15 215 5 245 5 000 
+3 050 (c) +1 500 (a)

–300 (d) –200 
–2 600 (d)

–125 (d)
–300 (d)

14 940 6 545 5 000 = 26 485 
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•

•
 5000 

1 (c) 310 

2 (b) 19 940 

= 26 485 – 6545 
= 19 940

3 (b) 9540 

= (  +  +  + ) – 
= (310 + 10 725 + 2000 + 3050 ) – 6545 
= 9540

4 (c) 4940 

14 940 – 10 000 = 4940

5 (d) 

2

6 (d) 

7 (c) 

3
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A  1998  12  31 

 2

1

2

 XYZ 

13 000
2 600 10 400

2 000
3 050 5 050

10 725
310

16 085

6 545 9 540
19 940

5 000

10 000
4 940 14 940

19 940

                   
                
----------------------------

                   
                
----------------------------

                              
                

----------------------------------------------

                 
                
----------------------------

               
               
-----------------------
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 (debtors)

 accounts receivable

3  = 11.4 

=

=

=

= 631 000 

4  =  – 

= /
= 7 194 000 /0.90
= 7 993 400 

= /
= 7 194 000 /4.4
= 1 635 000 

= 7 993 400  – 1 635 000 
= 6 358 400 

 =  +  + 

= ×
= (7 993 400 /365) × 119
= 2 606 100 

=  –  – 
= 6 358 400  – 631 000  – 2 606 100 
= 3 121 300 

                 
                
----------------------------

                     
                
--------------------------------

                               
                

------------------------------------------------11.4
7 194 000 
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XYZ  20x2 
 770 100 XYZ 

5  XYZ 

 20x2 
 XYZ 

 XYZ 

 30  XYZ 
 90 

(a) (b) 
(c) 

 20v8  10.3 
 20w2  6 (a) XYZ 

(b) 
6 XYZ  20w0 

XYZ  7 
40% 20v8 – 20w4  76%

 XYZ 
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1

 = 486 000 
 = 54.00 

 = 9000

2

AH =  =  = 3800 

3

AR =  =  = 41 

SH =  =  = 3600

 41

4  = 400 F

AO – BO  – 

AO = 31 600 
BO = 31 600 + 400 F  = 32 000

 = 3800 U  = 8000 U
AH(SR – AR) SR(SH – AH)

 = 3800 U  = 8000 U
AH(SR – AR) SR(SH – AH)

3800 × (40 – 41) = 3800  U 40 × (3600 – 3800) = 8000  U

                                               
                

------------------------------------------------------------------------ +                                              
                

--------------------------------------------------------------------
40 

144 000 + 8000 

                               
                

-----------------------------------------------                        
                
------------------------------------3800
155 800 

                         
                

----------------------------------------                        
                
------------------------------------40
144 000 
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A2/14 Edinburgh Business School

5

(SR × AP) – (SR × BP) = 3200  U
8AP = 32000 – 3200 
8AP = 28 800 
AP = 3600 =

6 x = 

= ×
10 000 = [x – (9000 × 3)] × 10 
10 000 = (x – 27 000) × 10 
10 000 = 10 × x – 270 000 
10 × x = 280 000 

x = 28 000 

7  11.00 
3

 268 800 
268 800 /28 000 = 9.60

8
 12 

 120% 

BO = × = 32 000 
= x × 8 = 32 000 

x = 4000  = 

 = 3200 U
SR(AP – BP)
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 4 

Morningside Toy 20x2–20x6 

 4  1 4
43 400  Morningside 

 3  4  Mouse 

 1  2 

1 2 3 4
MZ 

 100 000 
 3.30  4 1 320 000 1 320 000 
 10 000 

 4.00  4 160 000 
 26 000  3.90 

 4 (100 000 – 74 000) 405 600 
4 (96 800) 

76 000 
4 28 000 

(140 000) (140 000) 
182 000 91 000 

 MZ 

 90 000 
4  0.20 72 000 

 74 000 
4  0.20 59 200 

 90 000 
4  0.50 180 000 

 74 000 
4  0.50 148 000 

*584 000 **440 000 
1 187 200 1 180 000 1 178 000 1 143 800 

* 124.6  110 × 4
** 121  110 × 4
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 20x2 

 5 

 Mercedes

 Mercedes 

 2

 3  50% 

A
B

A

 30 A
30 × 1 = 30

B

 3  1  30  2  25  3  15 B
 70 
 = 100

 50% × 100 = 50

A

 1–5

Bruntsfield Machines Limited 11  30 

 5300  +  8350  + 
 10 500  + 

3650  +  4000 
=

 19 800  +  7000 
 +  5000 
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 12 
I  2500 
II  6500 
III  2000 
IV  800 
V  75%  7500 

1

A 600 
B 2600 
C  2900 
D  4900 

2  5% 

A 7173 
B 14 297 
C 14 675 
D 15 097 

3 2

A 17 497 
B 19 447 
C 20 247 
D 24 347 

4

 20% 
A 5200 
B 12 750 
C 13 600 
D 13 075 

5 3 4

A 18 122 
B 18 875 
C 22 622 
D 27 522 
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 6–8

Thomas Black & Co  4  1  35 
 25  110  10  120  6 

 6  62  10 750 

6  (FIFO) 
A 4680 
B 7440 
C 7460 
D 7640 

7

A 1016 
B 1094 
C 1170 
D 1190 

8  (LIFO) 
A 19.72%
B 28.93%
C 29.90%
D 30.79%

9

A
B
C
D

10

A
B
C
D

5 10 125 
6 6 130 
7 5 130 
8 10 135 
9 5 130 
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11

I
II
III
IV

A  I
B  I  II
C  III
D  III  IV

12 Aberclyde Sailing Club  6  30  20x2
20x3  20x4  3  31  300 
20x2  3  31  20  20x3 
3  31  300  10 

 20x4  3  31 
 20x4  3  31 

A 84 000 
B 87 000 
C 90 000 
D 96 000 

13 Silvergate Systems Limited  350 000 
 33 000 

30%

A 212 000 
B 236 231 
C 245 000 
D 302 231 

 14  15 

Pine Products  500  Garden Huts Limited
 180 

I  4 
II  10 
III  180 

Pine Products  400  800 000 

14  II
A 4.38 
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A2/20 Edinburgh Business School

B 4.60 
C 4.78 
D 5.00 

15  III
A 1.25 
B 4.50 
C 4.80 
D 5.00 

16

A
B
C

D

 17  18 

17  423A 
A 750 
B 1167 
C 1250 
D 2000 

18  423A 
A 6950 
B 8200 
C 15 750 
D 16 250 

19–21

Weasel Limited 

423A 
10 000 12 000 3 000
16 000 15 000 2 750
35 000 40 000
6 000 5 000 150
7 500 8 000 250

15 35 000 
10 60 000 



Edinburgh Business School A2/21

2 / 

19  50 

A 1000 
B 1400 
C 2400 
D 3800 

20  5000  5000 

A 44 
B 45 
C 50 
D 51 

21  10 000  60 

A 2500 
B 3000 
C 3150 
D 3325 

22

A
B
C
D

 23–25

 Argyll Mugs Limited  1200 
 24 000 6

 7  1 

7 1300 800
8 1200 1200
9 900 1200
10 1000 1000
11 1500 1200
12 1300 1000
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A2/22 Edinburgh Business School

23

A
B 1 
C 2 
D 4 

24

A 1 
B 2 
C 3
D 4 

25  11  25 000 

A  1000 
B  1000 
C  5000 
D  5000 

 26–29

Troon Products Limited  Bank of Caledonia 
 1000 

5  100 

26

A 200 
B 210 
C 410 
D 105 

2  20 40
3  12 36
6  30 180

256

210  21 
320  3900 
620
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27

A 200 
B 210 
C 210 
D 410 

28

A
B 60 
C 240 
D 246 

29

A 56 
B 60 
C 60 
D 300 

30

I
II
III
IV

A  I  II
B  I II  III
C  II  III
D  I  IV

B

 1

Huntley Products Limited 

A 180 000
B 200 000
C 100 000
D 40 000
E 70 000
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 5 

 A

 5  66 000 

 B

 2  145 000  3 

 C

 3 2
 73 000 

 D

 5  16 000 

 E

 70 000 

 300 000 

 10%

1 22

2 8

 30 

1
2  10%  1

IRR %
A 24.32
B 28.79
C 22.05
D 28.65
E 26.82
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Executive Cars  20x2  12  31 

1 0.909
2 0.826
3 0.751
4 0.683
5 0.621

20x2 20x1

830.4 746.5
646.2 577.8
184.2 168.7
(20.6) (19.7)
(56.8) (41.2)
106.8 107.8
14.0 13.5

120.8 121.3
(37.4) (33.7)
83.4 87.6

(17.2) (24.1)
66.2 63.5

20x2 20x1

237.4 176.6

104.7 87.0
43.2 48.4

271.6 156.2
419.5 291.6

(346.2) (234.2)
73.3 57.4

310.7 234.0
(77.5) (67.0)
233.2 167.0
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 18090  25 
 5.80  1  4.50 

 Executive Cars  10 000 
 20x1 

1  Executive Cars 
18

2
7

 25 

 3

Inverfrost Products Limited  Alphastar

 40 000  Alphastar
80.00 

45.2 45.2
2.8 2.8

185.2 119.0
233.2 167.0

Alphastar 

 K1  2  1 2.00
 B3  1  3 3.00
 3  4 12.00
 3  6 18.00

35.00
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1 (10 )

2 (5 )

15

9000  85.00 765 000

K1  18 000  1 18 000
B3  8500  3.50 29 750

28 000  4.50 126 000
165 000

338 750
426 250
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 A 

 B 

 1

1 A2.1

 A2.1

/
 E 

 A 

1 D. 11 A. 21 B.
2 B. 12 C. 22 D.
3 B. 13 B. 23 C.
4 D. 14 C. 24 A.
5 A. 15 D. 25 D.
6 B. 16 A. 26 A.
7 B. 17 C. 27 B.
8 B. 18 A. 28 C.
9 D. 19 D. 29 B.

10 C. 20 B. 30 D.
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2

•

•

• /
•

•

•

•

 2

1

 20x2 
 2 

 1.2

 0.91 

300 000 
 E 70 000
 D 40 000
 C 100 000
 A 40 000

 50% 90 000
300 000 

20x2 20x1
1

= 1.21 1.25

2

= 0.91 0.87

                   
                
----------------------------            

           
------------------346.2
419.5            

           
------------------234.2
291.6

                              
                

---------------------------------------------- –                         
                

-------------------------------------346.2
419.5 – 104.7                         

                
-------------------------------------234.2

291.6 – 87.0
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 22.19% 
 20x2 

 5.5%  6.8%

20x2 20x1
1

= 10.05% 11.74%

2

= 12.7% 18.7%

3

= 22.19% 22.6%

4

= 35.77% 52.46%

5

= 6.8% 5.5%

6

= 2.48% 2.64%

20x2 20x1
1

= 7.93 8.58 

2

                              
                

---------------------------------------------- +            
            
------------------830.4

83.4            
            
------------------746.5

87.6

                              
                

---------------------------------------------- +                         
                

-------------------------------------237.4 + 419.5
83.4                         

                
-------------------------------------176.6 + 291.6

87.6

               
             
-----------------------           

           
-----------------830.4
184.2            

           
------------------746.5
168.7

                   
                
----------------------------            

          
-----------------233.2
83.4            

           
------------------167.0

87.6

                   
                
----------------------------            

          
-----------------830.4
56.8            

           
-----------------746.5
41.2

                   
                
----------------------------            

          
-----------------830.4
20.6            

           
-----------------746.5
19.7

              
             
----------------------            

           
-----------------104.7
830.4            

           
------------------87.0
746.5
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20x2  8.58  7.93

 24  19 

 4.2  3.5 

2

= 19 24 

3

= 3.5 4.2 

20x2 20x1
1  (EPS)

= 46.1 48.4 

2

= 12.58 9.3

3

= 1.64% 2.96%

4

= 4.85 3.64 

                 
                
---------------------------                   

                
-----------------------------830.4/365

43.2                    
                
----------------------------746.5/365

48.4

                 
                
---------------------------            

           
-----------------237.4
830.4            

           
------------------176.6
746.5

                         
                

----------------------------------------            
          
-----------------180.9

83.4            
          
------------------180.9

87.6

          
          
----------------EPS

        
        
--------------46.1
580         

        
--------------48.4
450

                 
                
----------------------------                                  

                
---------------------------------------------------

5.80 
1720 /180.9                             

                
-------------------------------------------

4.50 
24.1 /180.9

              
             
----------------------         

        
--------------17.2
83.4         

        
--------------24.1
87.6
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 3

1

 K1

= (SP – AP)AQ
= (1  – 1 ) × 18 000
=

= (SQ – AQ)SP
= ([9000 × 2] – 18 000) × 1 
=

 B3

=  (SP – AP)AQ
=  (3  – 3.50 ) × 8500
= 4250 

= (SQ – AQ)SP
= ([9000 × 1] – 8500) × 3 
= 1500 

= (SR – AR)AT
= (4 − 4.50 ) × 28 000
= 14 000 

= (ST – AT)SR
= ([9000 × 3] – 28 000) × 4 
= (27 000 – 28 000) × 4 
= 4000 

=

= 28 000 × 6 165 000 
= 168 000 165 000 
= 3 000 
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2

1
 18 000 

 14 000 
 4000 

2  3000 

3 K1  B3 
 4250 B3 

 1500 

=

= 9 000 × 3 × 6 28 000 × 6 
= 162 000  168 000 
= 6 000 


